2. The drama club will give one performance every night except Sunday and Monday for two
weeks (ten nights). Club members believe that revenue from the first night's production
will be approximately $3500. For each night after that, they think the revenue will be
70% of the previous night's revenue. Use this information to estimate projected revenue
for each of the first five nights of the production. Then write a function rule that models
this situation.

1st night = 3500

2nd night = 3500(0.7) = 2450
3rd night = 2450(0.7)= 1715

4th night = 1715(0.7)= 1200.50
5th night = 1200.50(0.7)= 840.35
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Answer SASS - problem #2

Below are some possible "rules" to model this situation

Explicit Formula Recursive Formula Exponential Function

—a. k"
=—Q - (’,I>X
(1 35)

3500 = (A (1)
390 =0\
A

2. The drama club will give one performance every night except Sunday and Monday for two

weeks (ten nights). Club members believe that revenue from the first night's production
will be approximately $3500. For each night after that, they think the revenue will be
70% of the previous night's revenue.

What is the total revenue for all 10 nights?

1 2 3 4 5 6 7 8 9 10
3500 + 2450 + 1715 + 1200.50 + 840.35 + 588.25 + 411.77 + 288.24 + 201.77 + 141.24

= $11,337.12



The sum of the first 10 nights of revenue creates a
GEOMETRIC Series.

Geometric Series:

The sum of the terms of a Geometric Sequence

14, Total revenue for all 10 nights. i L

3500 + 2450 + 1715 + 1200.50 + 840.35 + 588.25 + 411.77 + 288.24 + 201;‘7 + 141.IZZ

Can you use the same process to find the sum of the terms of a
Geometric Series as you did for an Arithmetic Series?

NOD £1+JC'10 ;’E £L+JQ7

Agile Mind Website: Topic 1 - Exploring - Geo seqg/series pg8

Revenues for all 10 nights.
3500 + 2450 + 1715 + 1200.50 + 840.35 + 588.25 + 411.77 + 288.24 + 201.77 + 141.24

Write this series in sigma notation
(U n—{

3s00( 1)

N e o
(& KF\LCH* Cor m e
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Sum of "n" terms of an
Arithmetic Series:

Sum of "n" terms of a
Geometric Series:

n
Sn = 5[’] +In]

What do you need to
know to use this formula?

e n = # of terms
e t; = 1st term
e t, = Last term

1_ n
en (1)
1—r
What do you need to
know to use this formula?

e n = # of terms
o t, = 1st term
o r = the common ratio

| Geometric Sequences: |

Explicit Formula:

Recursive Formula:
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tn = t1 (I’)n"]

ty = first term
tn = tn_1or
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| Arithmetic Series:| £ 4hic 15 Hhe Sy =1 ( r >

i l1—r
_ _ n v explert— formula
Sigma Notation: > ti(n)! ,},{Z\ A skl Sl
el ot 1 and Sop Find the sum of the first 10 terms of the sequence
defined by this formula:
at Hne # of derms 1
A = n-
Sumof nterms: S, =1, ( 11 rr ) tn 3(2)
.
3 | — l/o B f A
— = 3 (/-2 )//
=2
— 3069
2+6+18 +54 + 162 + 486 + 1458 + 4374 + 13122 S Find the sum of this series.
1. Write this series in sigma notation. é) eometrric 1= B 6+12+24+48+ ...+ 384
7 n-y exphet Lormula Geo: L =0
Zi 2(>) L= 2(3)"” =2
n=/ ﬁT-ermg S N :_? qud # Terms:
- n
L = v D & = (/—r
2. Evaluate your answer to previous problem. . Ll ! " 43
| = y = 2 _ _
Sumof Geo Seres: Sp= £, (5 3ei =410 S.=6(4=%)
7 G n-|
g = Z / -3 = Z g = é
f T >nsc 2= o

Oil=il®
@=Y



7 ) Hwk #6:
Evaluate. 256(0.5) ! Geometrii

Z (0.5) Series 1. PRACTICE SHEET Due Monday

n=1 /T \)
Ly &2 256

. = _ y—I5
g“J£’(_z§”>:> Sw_ggé(?s)
S,=507
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